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STAT 211	Statistics for Business I
Department of Mathematics and Statistics KFUPM
Quiz 4: ch8&10	                                                                                  Time: 40 mins
Student’s Name: _________________________ ID: ____________________________
Q. (5+5 = 10 points)
(a) Based on random sample of size 11 from a normal population with unknown sigma, one has calculated the 95% confidence interval for the population mean and obtained the result (62.5, 86.9). Using this result, find a 90% confidence interval for µ.
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(b) The head librarian at the Library of Congress has asked his assistant for an interval estimate of the mean number of books checked out each day. The assistant provides the following interval estimate: from 740 to 920 books per day. If the head librarian knows that the population standard deviation is 150 books checked out per day, and he asked his assistant for a 95% confidence interval, approximately how large a sample did his assistant use to determine the interval estimate?

